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b− c
a2 + ac

− a− b
ac+ c2 + a2 + c2

a2c+ ac2 = b− c
a(a+ c) − a− b

c(a+ c) + a2 + c2

ac(a+ c) =

c(b− c)− a(a− b) + (a2 + c2)
ac(a+ c) = cb− c2 − (a2 − ab) + a2 + c2

ac(a+ c) = cb− a2 + ab+ a2

ac(a+ c) = cb+ ab

ac(a+ c) =

b(c+ a)
ac(a+ c) = b

ac
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3s
(s− 2)2 − 2

s
+ s+ 4

2s− s2 = 3s
(s− 2)2 − 2

s
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s(2− s) = 3s
(s− 2)2 − 2

s
− s+ 4

s(s− 2) =

3s2 − 2(s− 2)2 − (s+ 4)(s− 2)
s(s− 2)2 = 3s2 − 2(4− 4s+ s2)− (s2 + 2s− 8)

s(s− 2)2 =

3s2 − (8− 8s+ 2s2)− s2 − 2s+ 8
s(s− 2)2 = 3s2 − 8 + 8s− 2s2 − s2 − 2s+ 8

s(s− 2)2 = 6s
s(s− 2)2 = 6

(s− 2)2

Hinweis: Anstatt Vorzeichenakrobatik (2−s) = −(2−s), könnte man auch einfach (2−s)2 = (−(s−2))2 =
(s− 2)2 verwenden.

f)

Lösung zu Aufgabe 7.9 ex-bruchterme-querbeet
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